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                        Выполнить 
     сложение отрицательных                                  

чисел.



• 1 вариант
1)-7 -3 =
2)-175 -314 =
3)-35,5 -67,4=
4)-27 -3,5 =
5)-0,27 -4,3 =
6)I-24 -35,3I=

• 2 вариант
1)-6 -5         =
2)-165 -234 =
3)-34,7-56,2 =
4)-65 -4,3    =
5)-о,45 -5,8 =
6)I-63 -56,8I= 
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Проверим решение:



Выполнить
Сложение чисел с разными

знаками.



Проверим решение:

•      1вариант
1)-45+56=

2)-56+46= 
              
3)-5,7+4,3=  
          
4)-6,89+4,5=  
       
5) -5,7+7,45=
       
6)I -4,6+7,45I=

•    2 вариант
1)-65+78=  
                                               
2)-78+65=
                                              
3)-7,9+4,5= 
                                             
4)-5,58+2,4=
          
5) -6,7+8,96=
        
6)I -6,3+9,45 I=
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